int init()
{
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SetIndexBuffer(0,0Open_S);
SetIndexBuffer(1,Close_S);
SetIndexBuffer(2,0pen_M);
SetIndexBuffer(3,Close_M);
SetIndexBuffer(4,0pen_L);
SetIndexBuffer(5,Close_L);
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SetIndexLabel(0,"Open("+Average_Period_S+")");
SetIndexLabel(1,"Close("+Average_Period_S+")");
SetIindexLabel(2,"Open("+Average_Period_M+")");
SetIndexLabel(3,"Close("+Average_Period_M+")");
SetIndexLabel(4,"Open("+Average_Period_L+")");

SetIndexLabel(5,"Close("+Average_Period_L+")");
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SetIndexStyle(0,DRAW_HISTOGRAM,STYLE_SOLID); |
SetIndexStyle(1,DRAW_HISTOGRAM,STYLE_SOLID);
SetlndexStyle(2,DRAW_HISTOGRAM,STYLE_SOLID);
SetIndexStyle(3,DRAW_HISTOGRAM,STYLE_SOLID);
SetIndexStyle(4,DRAW_HISTOGRAM,STYLE_SOLID);

SetlndexStyle(5,DRAW_HISTOGRAM,STYLE_SOLID); |
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SetIndexDrawBegin(0,Average_Period_S + 1);
SetIndexDrawBegin(1,Average_Period_S + 1);
SetIndexDrawBegin(2,Average_Period_M + 1);
SetIndexDrawBegin(3,Average_Period_M + 1);
SetindexDrawBegin(4,Average_Period_L + 1);

SetIndexDrawBegin(5,Average_Period_L + 1);

return(0);

}



